Empty 100-pin TQFP PF MCU CARD 1

77 MikroElektronika EasyPIC Fusipn'’

DEVELOPMENT TOOLS | COMPILERS | BOOKS




/

-

N\ N\
Supported microcontrollers Bill of Materials for PF MCU card 1
PIC32MX534F064L Designator Comment Footprint
PIC32MX564F064L
1 100nF 0603
PIC32MX564F128L
2 100nF 0603
PIC32MX575F256L
PIC32MX575F512L e 100nF 0603
PIC32MX664F064L c4 100nF 0603
PIC32MX664F128L cs 100nF 0603
PIC32MX675F256L €3 100nF 0603
PIC32MX675F512L c7 100nF 0603
PIC32MX695F512L 8 22pF 0603
PIC32MX764F128L . 220F 0603
PIC32MX775F512L 11 220F 0603
PIC32MX795F512L
€1 10uF ELCO CASE-B
€2 10uF ELCO CASE-B
PIC24F|64GA310
PIC24F/128GA310 €3 10uF ELCO CASE-B
P/CZ4F]1286A110 E5 10uF ELCO CASE-B
PIC24F|64GB110 HD1 M2X26 HEADER 2x13A
PIC24FJ192GA110 HD2 M2X26 HEADER 2x13B
PIC24F|128GB110 HD3 M2X26 HEADER 2x13C
PIC24FJ256GA110 HD4 M2X26 HEADER 2x13D
PIC24F]192GB110 n OR 0805 DUAL
PIC24F|256GB110 12 O0R 0805 DUAL
dsPIC33EP256MU8B10
Ul MICROCONTROLLER LOFP-100
dsPIC33EP512MU8B10
X1 8MHz CRYSTAL ABM7 SMD V2
PIC24EP256GUB10
PIC24EP512GU810 Xe 3¢2.768KHz Feess
J J
EasyPIC Fusipn” age 2




, vRRF(2EGS NS
SBREREEERRERE
SRR ERREER
=
alz
33
1 5
zlals
S
iy
%LE@"&@GWGE
Z
/ SRS SRR o N h
221222 | R ‘égg?‘égﬁgﬁﬁﬁﬁ e
vee = vee
I . vee I E2
100F 100F
RB6 6 00 RE4
RB7 7 9 RE3
RAS 8 RE2
RA10 7 RG13
RGL2
L RGL4
RBS i REL
RES REO
RB10 RA7
RB11 RAG
RGO
[ 36
. RGL GND 7 7 vee
100pin TQFP PF RFL RE3 7 7 RE4
7 RFO RGI3 7 7 RE2
MCU CARD 1 6] RGl4 7 7 RGL2
Vcap ] REO 7 REL
RD? RA6 RA7
RDf RG1 RGO
RD: £5 RFO RF
1 RD: 10uF )7 Dt
4 80 COTEN D5 9 D:
79 RD12\| — D13 7 RDL
3 78 RD: = D2 55 D:
9 ~n 77 RD: GND 53 D
0 &g 76 RD. HD4
9343588
S6282aR
- =
2183 E3
Z|=[@ Zly o]
A Y o o T Y = B
o »
g2)g)8) geRl2lRE 33 == 222813
ci1 22pF €9 220F vee vee
‘\H_| |—U\‘ I I
X1 8MHz [ X2 32.768KHz = E
- 100F [ 100F
1 i L L
10 22pF 8 22pF = =
AR A
g&lo| #[RB2z[25REE
3 Bl
3 [
elolsls
[53]

vee
RG2
USB-VBUS

ALq

Figure 1: MCU card schematic

J

page 3

EasyPIC Fusipn”



Card dimensions

EasyPIC Fusipn”

Figure 2: MCU card dimensions.

<—— 940 mils ———>
100 mils
> =
EasgPIC).v?
8883835638083 ) A
. S rerrxoe = &0 > .——A
|!|E1.............Ezlj|
L= 0000000000000 L=|
. s 5550552 o WM
O ¥X¥eoeeoereoeowv o xx o O 0
NCI.I. NC I 5 X ® @O cc
NC|@ @|NC m <,\‘ <33v>;5 RE3|@ @[RE4
ne|l@ @ne W S g\ RG13| @ @|RE2
" RB6 |@ @|RB7 & RG14 | @ @RG12
= RAI|@ @|RAOET REO|@ @|RE1
£ o &) o v
Ln Res |@ @|Rso 5 rA6 | @ @|RA7 = =
C9
g RB10..RB11 <’//.>/’>RG1..RGO Py oy
o o
RF13|@ @|RA1 [ <0/CSRFO..RF1 ﬁ m
rRe12|@ @|RF12E3 Q <//.> rRD7|@ @|RD6
RB14|@ @|RB13 N RD5 | @ @|RD4
RD14|@ @|Rre15 1O US! ha5013| @ @|Ro12
(O SRR I sccrons hiRBRE o (S &
vee|@ @ .-m!. ¢ Sﬁ Tajmsom'm: o[m|=o
S, OIEIOEIOO<<‘<_:DD Ny
l—l-on:oznctn§n:n:n:n:n: ol—l-
=1 0000000000000 =1
I X XXX X XXXy |
o S EFEEEEEEEE o —
\. Scl” g|f|Sle e g epes ) v
2000 mils
2200 mils

page 4



QOO

If you want to learn more about our products, please visit our website at www.mikroe.com
If you are experiencing some problems with any of our products or just need additional
information, please place your ticket at www.mikroe.com/esupport
If you have any questions, comments or business proposals,
do not hesitate to contact us at office@mikroe.com



